Rajasthali Law Institute

Prelims test series
IPC PAPER-7

1)Which one of the following is not correct?

(a) for theft property must be moveable

(b) for theft property must be removed out of the possession of
the owner of property

(c) for theft property should have been removed for taking it away
(d) for theft property should be removed dishonestly

1)RafaT & & i ar Fer 78T &2

(a) TRY & forw gufa e gl @nfeT

(b) TR & Torw FUTT &1 FURT & ATfele & Feal F geT AT AT
EIY

(c) I & forw Tufa &t o S & forw ger fear ser =nfge

(d) TR & forw gufa & SSAET & geT &1 A1feT

2)A cuts down a tree on Z's ground with the intention of
dishonestly taking the tree out of Z's possession without Z's
consent. For which offence A is liable?

(a) Theft

(b) Mischief

(c) Breach of trust

(d) None of the above



2) T 9IS T EHATA o 19611 9IS & heol H US I SSHTT T ofed oh
e U 318 T FTHIT U Teh U e fer| T fohg 37Rrer & fow

3)'A' removes B's book from his house without his consent
with the intention to return it to him if he as a friend rewards
him for the return. ‘A’ is liable for-

(a) Theft

(b) Attempt to theft

(c) Criminal breach of trust

(d) Attempt to criminal breach of trust

3) 'T & Fr fohdTe I 3T TgAfd & AT 3aF R AT RS I
geT &dT & o5 39X 98 Uah aIed & &9 H 38 9y & v ST ar g
dl 9 39 ar9y & &3 | ‘T SHF ToIv 3T &-
(a) TR
(b) TR ST TIcoT

)

)

(c) MRS =IATHHT
(d) MRS FITHHIT T Tcal

o O

4)'B' and 'C’ were on the railway platform. ‘B’ had taken a
ticket from Allahabad to Delhi. 'B’, an illiterate woman
handed over the ticket to 'C’ in order to ascertain whether
she had a right ticket. 'C' under the pretence of returning the



ticket to Delhi substituted it for the ticket of shorter journey
and returned that as 'B's ticket. In this case, 'C' is liable for
(a) Cheating 'B'

(b) Criminal misappropriation
(c) Theft

(d) Criminal breach of trust

4)'sr 3T @ Te7a Tehid W | 'S A SoTglele & ool d& &
feene form | &, Teh 31e9s Al A Ig ARad v & faw
feare & &1 8iT fear i 3T 99 T8l [Kehe & ars1ai| "4 o fSeell
T feohe aray el o SgTel SH SICT ATAT o [Che o T dGof AT
3R 39 A" &1 [eahe Idrent Iy o 16aT| 39 AT H, 8@ 3aierl
J

(d) TR ~IIAeHT

5). 'A' finds a purse with money on the high-road, not
knowing to whom the purse belonging, ‘A’ picks up the
purse. He has committed an offence under:

(a) Section 403, IPC

(b) Section 404, IPC

(c) Section 405, IPC

(d) None of the above

5). "T* I TETT FART O J4T T T Teh 94 THeldT g, Tg Tl Il [
Ig 9g ThTT g, 'T 9 3T oIdT &1 3T ATl d o dgd 379y
Rar g



6). X finds a Government promissory note belonging to C
bearing a blank endorsement X knowing that the note
belongs to C pledged it with a banker as a security for loan
intending to restore it to C within a week. X:

(a) Is not guilty of any offence

(b) Is guilty of criminal breach of trust

(c) Is guilty of cheating

(d) Is guilty of criminal misappropriation

6). ‘T’ &I AP T G Ueh TR dded U fHeldl § o I
Grell JSaTeheT 8, “TH’ Y Ig Ul & foh Ig Ale U T g 3R 380
S8 HOT & foIT FU&T & §F H U dY o I RRaT 1@ fea § 3K
S Teh HTATE & HIaX ‘A T ar9g sl &l ST IWAT & | ‘T’ ?
(a) ToRET 3TORTET T ST AGT &

(b) TIRTTES ~ITHIIT T Gy &

(d) ST FTE &

(d)3TTeRTTRI gffarater &1 &I &

7). In cases of dishonest misappropriation, the initial
possession of the property is?

(a) dishonest

(b) fraudulent

(c) innocent

(d) both (a) and (b)



7). SSATA & gfafAANeT & ATH &, HYTT T TR A hooll FIT87?

8)A's wallet falls out of his pocket unknown to him. His
friend, B, who sees this, picks up the same. On finding that
the wallet contains Rs. 2000 B uses the money for his own
purpose. After six hours, B puts Rs. 2000 back in the wallet
and returns the same to A. B is guilty of ?

(a) no offence

(b) theft as B has caused wrongful to loss to A for Six hours

(c) criminal misappropriation of property

(d) cheating as he deceived A

8)T &1 SIC3TT 3711l & & 3! o1 § I STAT &1 3HehT et o, S
IE STl £, TEY 33T ST &| 5T Il el fob 2T 3 2000 F9 &1 &
8 T YT 37971 36637 o folT LT B o T ¥ aTe, &1 2000
T 9T & a9 e &1 3R 30 T eiter Sar ¥ Sy &2

(a) FS 3TRTE G

(b) TRT FTfh oY o Tl T T 3 AT ITeid Tk F et gara
J

(c) ufa T 3R

(d) Bl S 3T T &l fear

9)'A’ saw a ring belonging to 'Z' on a table in the house of 'Z'.
‘A’ removes the ring. What offence has been committed?
(a) theft



(b) cheating
(c) mischief
(d) misappropriation

9)'T & 'S8 & T H Ueh Hol WX 'SIS" ol Ueh 39S ¢WT| T 38T gel
ST &1 hieT IT 3ToRTey fohaT araT 82

(a)arY

(b)ySe

(c)RfSe

(d)gfaferatT

10)With a view to causing loss to his employer, an employee
throws away a ring given to him by the employer for safe
custody. The employee is guilty of-

(a) Criminal negligence

(b) Criminal mischief

(c) Criminal breach of trust

(d) Criminal misappropriation of property

10)mﬁﬁmwa#awaq§mﬁraﬁrﬁ?dﬁ,wmﬁ€rr&ﬁmw
ST FRTBI HTERET & oI &7 315 3 1 thes el &1 ey &y

.
(a)3TIRTT™ SITadTar
(b)3TRTTEe Rfse

()3T =TT

(d) &G e 3TRTTEI glafarer

11). In which of the following cases, the offence of theft has
not been committed?



(a) A cuts trees in the land belong to Z. Before A could take away
the cut trees, he is apprehended

(b) A puts a piece of meat in his bag. B's dog follows him. B is not
aware of movement of his dog. When A reached his house, he
saw the dog and chained it inside his house.

(c) A finds a ring lying on the roadside. A takes the ring and keeps
the same with himself.

(d) A had pawned his watch with X. Without X's consent, A takes
back his watch without paying the money for which the watch was
pawned.

M)Fafaf@d & & 5T Aeer 7 I &1 39T g1 fohar I 82
(a )Uﬁag@raﬁﬂwﬂgmlmqﬁ%va%mﬁ?ﬁaﬁa
ST, 38 Yahs foldr aram

(b) T 319l 9T H HIH T Teh ¢ehsT I g | ST T HelT 3HehT GST
T & Y T 3791 P & gl 3 1Y 8 U 78T &1 519 T 379eT €]
g, ﬁmaﬁaﬁmaﬂtwma?%mmﬂwﬁml
(c )Uﬁﬂ%%ﬁﬁﬁ@ﬂ?ﬁ@@éﬁﬂ?ﬁ%lﬁﬁﬁﬁﬁ%ﬁ?
38 A9 ITH 39 ST gl

(d) T ¥ 39T T8T TFH & 91 [P W@ ¢F 27| v S JgATd o
=TT, T 38 UG o1 ST TohT AT 379eiT TSt arad of ofell & fordeh
frT ey ol Tt 378 o)

12)’Principle’: Whoever intending to take

dishonestly. any movable property out of the possession of
any person without that person's consent, moves that
property in order to such taking, commits theft.

‘Factual Situation’: Balu and Ramu are close friends. One day
Ramu went to Balu's house and saw a mobile belonging to



Balu's sister, who came for a holiday. Ramu took the phone
and put his SIM card in it and started using it.?

(a) Ramu is guilty of theft.

(b) Ramu is not guilty of theft as he was free to take anything from
Balu custody.

(c) Ramu is guilty of the offence of criminal misappropriation.

(d) Ramu is not guilty of any offence as

He and Balu are good friends.

12)"RAcHrd: ST IS fohdl cTTod o Theol A 39 cATod I TgATd &
a7 TRET ST9Te GUfT T SSATAT H ofad &l 1T IW@T g, 39 FURT
Bl UH oled o ol TATATIRT PIAT g, 38 TR el gl SATdT g |
"TATHS [t are] 3R T ufess TR §1 Ueh et T3 are] & &Y
T 3R 381 ST, & g5 w:mama@ a’ra—dﬁmﬁaﬁaﬁeﬁl
wﬁqﬁaﬁmsﬂ?mﬁmﬁmaﬂémﬁmsﬂ?mw
Eh—&#mm

a) X AR T &I g
( )mmﬁwmaﬁ%mwmﬁrmﬁ@rmaﬂaﬁa:
Eik=re
(c) T JTeRTTR gfdfeaner & agrer &1 e g
(d) o, fomely 8 3ToTer S ey AL &
3% 3T ey 3red> et &

13). 'A’ finds a purse with money, not knowing to whom it
belongs; he afterwards discovers that it belongs to '‘B' and
appropriates to his own use. ‘A’ is guilty of-

(a) Theft

(b) Criminal misappropriation

(c) Criminal breach of trust



(d) Cheating

13). 'T I Y47 H $T Teh 94 [HIdT g, Tg Tl IdT [ Ig foh e g;
g1, 7 38 9dT Joldl g [ Ig &' & ad g 3R 379 39T & folw

14)'A’ finds a watch on the floor of a State Transport bus
while he was leaving it as the last passenger. He picked it up
and put it in his pocket instead of returning it to the State
Transport authorities. Next day he sold it. ‘A’ is liable for:

(a) theft

(b) extortion

(c) criminal misappropriation

(d) criminal breach of trust

14)'T FI AT YRAEA T 97 & BT W T g3 [Fell, Sd dg T
T3 o ®T H 99 & ST 38T AT| 31 59 33147 AR 75T gRdgeT
ITASTRAT T dlers & FoIT 379 e H 3@ o | 3w1e e 39+
3 & 37| "T 3HP fIT 3eerRT §:



15)A finds a rupee on the highway not knowing to whom the
rupee belongs. A picks up the rupee. A has committed the
offence of ?

(a) Dishonest appropriation of property

(b) Theft

(c) Dishonestly receiving stolen property

(d) None of the above

15)T &I ASTHTET 9 Teh 9T THIdT &, 39 Ig oTal Il gIdT [ dg
TUT TR & | T 39AT 381 &. T of 39y haAT g ?

(a) HYf T SSATAT & gid fdTaT

(b) TRY

(C) SSHTAT & TR ehl TIRT IS halT

(d) 3TRNFT F H DI =T8T

16). ‘A’ finds a valuable diamond. Not knowing to whom it
belongs. ‘A’ sells it immediately without attempting to
discover the owner. 'A' is

(a) Guilty of theft as it is causing wrongful gain to him

(b) Guilty of criminal breach of trust

(c) Guilty of extortion

(d) Guilty of criminal misappropriation of property

16). 'T" I Teh SgHed 61T AAdT 81 o STl [haehr g1 T ATfeleh &l
@aﬁrwm%@msﬁg{d dJacdrgl'T'g

(a) TR T 1T Fifh 388 39 HIY ATAATH 8T & &

(b) 3TRTTAS FATHHIT T ST

(c) 3T T &St

(d) Fafer T 3T gfaferaer r are




17)In which of the following Sections of IPC 'preparation’ is
punishable?

(a) Sections 121, 125, 398

(b) Sections 122, 125, 399

(c) Sections 122, 126, 399

(d) Sections 121, 126, 398

17)3msdre fr Feafaf@a & & v ary 7 "ol S 872
(a) &IRT 121, 125, 398
(b) &IRT 122, 125, 399
(c) &IRT 122, 126, 399
(d) &RT 121, 126, 398

18)What is the offence preparation which is also punishable?
(@) Theft

(b) Dacoity

(c) Murder

(d) Rape

18)THT ohlol AT HUTY & [Sdeh! IR GUSIT & g2

(a) IRT

(b) SRl

(c) gcar ’

(d) SelTcHdT

19)If the offender is armed with deadly weapons at the time
of attempting dacoity, he is liable to be punished with

(a) Rigorous imprisonment of at least 7 years
(b) Rigorous imprisonment up to 7 years



(c) Rigorous imprisonment exceeding 5 years not
(d) None of the above

19)TTe Sl o TeeT & FHY IR EcTsh I A FisaTd, o 39
cied fohaT ST Thar g ?

(a) FH T HH 7 Y FH SR HRIATH

(b) 7 A T T hoR HRIETH

(c) 5 aY ¥ 318 FT FOR FRIET T6r

(d) 3TRFT H H IS oTg1

20)A meets B on high roads, shows a pistol and demands B's
purse. B in consequence, surrenders his purse. Here A has
committed:-

(a) Theft

(b) Extortion

(c) Robbery

(d) Dacoity

20)T JTeT HART 9 & § Heldm &, AEdler iG@rar g iR &f & ox
HIITAT & | IRUTHATIRY, ST 379AT T8 TS A Gl g | TgT Tl

(b)3egrdaet

(C)FF

(d)shdr

21)'A' committed robbery on the National Highway between

10.00 p.m. to 11.00 p.m. ‘A’ may be imprisoned for a
maximum period of:-



(a) 10 years
(b) 14 years
(c) 7 years

(d) None of these

21) 'T o U 10 597 & U 11.00 §9F T & & AATA §T9d W o[
$T| 'T i FHdH 379 & T FRIET & GhaT &:-

(a) 10 a¥

(b) 14 a¥
(c) 7 ay

(d) AH & Ig =TT

22)'A' gets Rs. 20,000 from 'B' under threat to cause death.
What offence 'A' has committed?

(a) Extortion

(b) Mischief

(c) Robbery

(d) Cheating

22)'T Sl €' H 20,000 T, THT 8. STed T AR T Gaehl gand. T o
hieT T 3TOXTET fhaT 872
(a)3cardst

~

(b)Rfee
(c)
(d)et

23)Under Indian Penal Code, in robbery there is ?
(a) Theft and dacoity

(b) Extortion and dacoity

(c) Neither theft nor extortion



(d) Either theft or extortion

23) TR &3 Aigdr & 3iaeTd Sehal & FATE?
a) AT 3R shdT

(b) 3cgT9et 3T ShcT

(c) o ar TR 3R o & 3egr9sd

(d) &7 A IRY AT 3egrdet

24). Consider the following statements in respect of the
offence of robbery:

point:1 Causing fear of death may be relevant
point:2 Causing hurt may be relevant

point:3 Causing fear of hurt may be relevant
point:4 Causing wrongful restraint may be relevant
Which of the statements given above are correct?
(@) 1 and 2

(b) 2and 4

(c)1and 3

(d) 3and 4

24). 7[C & Y & T H AT @d U=l T fa=R &
ﬁg1mwmﬁam3ﬁae’rm%
%gzsqgf?rq‘s’awsﬁ?rg’rmﬁ

Rig:3 3G T Tgaiet T 3731 3FI 8 T &
ﬁ§4mmt\awdlslud gl ol g

X f&T 31T AT F H il AT T &2

(a)13k2

(b) 2 31T 4

(c) 133
(d)

d) 331X 4



25)'A' meets 'Z' on the road and asks him to part with his
belongings on the instant threat of hurt to 'Z'. While 'Z'
delivers his purse to 'A' 'A’' snatches away the golden chain
from Z's neck. Which one of the following offences is
committed by 'A'?

(a) Extortion

(b) Robbery by theft

(c) Robbery by extortion

(d) Robbery by theft as well as robbery by extortion

25) 'T" g5 W ‘5’ § AT § 3R "A3" &I 3UgTd gl Sl deehldl
THPT U 3T 31T TTHTT BISeT F foIT FgaT &1 51 'S8 37917 98
T I FIUAT & dl T *SHS" o el § Hled hl el SleT AT 5|
[AFATIET A & shleT AT IIRTE T SaRT fohIT AT 52

(a) 3aarde

(b) T EaRT o

(C) 3&ardel €aRT o[

(d) TR SaRT ¢ TUT 3EET9e SaRT e

26). The offence of theft becomes robbery when it is:
(a) coupled with force

(b) committed by two or more but less

than five persons

(c) committed by five or more person

(d) coupled with imminent danger to

life

26). TRT T 39T Sohdil def SITdT § ST
(a) Fol & AT AT



(b) & a1 317 ifehet dfa cafFadl & wH garT FIRA
(c) 9T T 3778k ITFAAT SaRT HIRA
(d) 3T el R o A1 AT fSigah

27). Which one of the following is accepted as mens rea for
constituting the offence of theft?

(a) Knowingly

(b) Dishonestly

(c) Voluntarily

(d) Fraudulently

27). AR T 3T ST I o folv [FeaAfoi@a & & e
TR HROT & §F H TAIPR THAT SATAT 62

(a) Silelggiehl

(b)aém;ﬁ@r

(c) FaTaT |

(d) ShYeqdh

28)An automatic box was the property of the company. The
box contained a slit of sufficient size to admit a coin and a
projecting button. The box was so constructed that upon a
coin being dropped into the slit and the button being pushed
in, a chocolate would be ejected from the box. 'A' dropped
into the slit a brass disc about the size and shape of the coin,
and thereby obtained a chocolate. ‘A’ is

(a) Guilty of theft

(b) Guilty of extortion

(c) Guilty of cheating

(d) None of the above



28) Ush TadIfold dIdd sl ol Ui AT | Sierg H Tah Aaah 3R T
33 U d¢o1 I TW & Tl GATC HHR &I Tah O, AT| Siad hl
fHTOT =0 YR RaT 31T 2T i STo Uk Tt ¢ & STl STTaT 2T
3 ST ST ST AT, aY Ueh dlehole Siag A S8 faiehol STl AT
'T o QTP & PR AT T Gidd i 35 Ft 8¢ # 31, 3l sg
ch Uch dldhole WICd hl| 'T' §

a) A T G
( )WHWW
(C) ol T ST
(d) 3IRIeFd H T PIS =TT

29). ‘A’ meets a bullock carrying a box of treasure. He drives
the bullock in a certain direction in order that he may
dishonestly take the treasure. In this case ‘A’ commits

(a) Criminal misappropriation of property

(b) No offence until the treasure is being taken away

(c) Theft, as soon as the bullock begins to move

(d) Criminal breach of trust

29). 'T" T HATHI ToTToA T SFAT o ST §U Th Sl H el & | T§
8T Y U AR AT 7 giehell ¥ AT 98 SSHT A Gollel & T
S ATH H 'T" IR AT § ?

(a) U T ORISR

(b) ST Tk WITAT BIeT oTaT TIIT SITAT s cIeh IS 3TURTE TgT

(c) SeT & Tger &1 AR & SATer

(d) TS =T HHT

30)’A’ makes an attempt to pick the pocket of ‘B’ by thrusting
his hand into B's pocket. 'A’ fails in the attempt in



consequence of B's having nothing in the pocket. ‘A’ is guilty
of:

(a) No offence

(b) Theft

(c) Attempt to theft

(d) Using criminal force

30)'T" ‘&1’ &1 I H &I STIhY ‘ST I S FHIeet bl JATH AT g T
AP Y ST H FS o6l gl oh IRUTATIRY JATH H fahel W@ ¢ | T
Y &

(a) IS ORI =T

(b) TRY

(c) TRY T Yot

(d) 3TIRTT™R el T YT HaAT

31)The subject-matter of theft:-
(a) can be movable property

(b) can be immovable property
(c) both (a) and (b)

(d) either (a) or (b)

31)ar AT fav a&q:-

(a) STITH TURT g1 Tehcll &

(b) TG HYRT g Hehcll &

(c) QT (T) 37T (a)

(d) 3T &t (T) =T (i)

32). X dishonestly took away a jewellery box from Y's
possession. While he was proceeding towards his home he
found that he was being followed by Y. He abandoned the



box and threw stones at Y to deter him from continuing the
pursuit. X has committed ?

(a) no offence

(b) extortion
(c) theft

(d) robbery

32).U8 o SgATA & dTS o sheot H Teh JMRITOT iy SieT form| e
dg 3791 ©X I 3R ¢ 8T AT af 31 91T foh a1g 38T 9IsT X 8T
g1 39 S19g o138 fear 31 ars & fieT s A A & T3 W
wwﬁﬁslwﬁaﬁrﬁaﬁm%?
2) IS TORTE oTEr

( )
(c)
(d)

2 gpg

33)'A" had consensual sexual relations with 'Z's wife. She
gives to 'A' valuable property which 'A' knows to belong to
her husband, 'Z' and she has no authority from 'Z’ to give, 'A’
takes the property dishonestly. Which one of the following
offences has been committed by 'A'?

(a) Criminal breach of trust and criminal misappropriation

(b) Theft and criminal breach of trust
(c) Theft

(d) Criminal breach of trust

33)'T o ‘SIS FI Tcail oh TTT HEHATT & JloT G dATT | 98 'T* I
g U &l § 198 "0 St & foh a8 38eh afd 'o1s" i1 § 3R
3Y OF Y &Y BT FIE SR AT &, T AN & TRy AT B
AFATATE T # & et AT UL T GIRT TohT I-AT 5?2



34)Under the Indian Penal Code who among the following is
liable for committing theft?

(a) Child below 7 years of age

(b) Child below 8 years of age

(c) Child between 7 and 10 years age

(d) Child between 7 and 12 years of age having maturity of
understanding

34)HRAT &3 GfedT & dgd Il el o [T oAt iad 7 & shieT
RGN §72

(@) 7 Y ¥ & 3 &7 g

(b) 8 AY A FH 3H T a1

(c) 7 & 10 Y Y 3T T ST

(d) 7 & 12 Y T Y T e TSTHH A bl TRUFa gl

35)Planning to commit a theft is ?
(a) a cognizable offence

(b) no offence in itself

(c) strict criminal liability

(d) conspiracy

35)ARY I I JNSTAT FATeT ?
(a) Th Gad 3O

(b) 37T 319 H FIS TIRTT Al
(c) T&d I8 gIifica



(d) ¥z

36)'A' and 'B' who are cadets in the Indian Air Force take out
from the Jodhpur Aerodrome an aircraft, without the
authority of the commandant and fly it away to Pakistan what
offence has been committed by them ?

(a) Theft

(b) Criminal breach of trust

(c) Criminal misappropriation

(d) Sedition

36)'T" 3R "s* ST IR a1 VAT & ST §, hATSE o PR
WWWQWWW%WQWQ
ST &, 3eich GART &7 3TORTY fohaT 1T § 2

(a) TR

(b) MRS =TT HHIT

(c) 3R giafarrer
CIRIEEAR

37)A child of 9 years of age stole a gold necklace and
immediately afterwards sold it to the accused. Is he guilty of
theft?

(a) The child is not guilty as he lacked a sufficient maturity of
understanding

(b) The child is guilty as he has attained a sufficient maturity of
understanding to judge the nature and consequences of his
conduct on that occasion

(c) The child is not guilty, as he was below 12 years of age



(d) None of the above

37)9 ATl & Teh e of HioA &1 g I foldm 3R T 916 38 IR
a#razrﬁwwaga’lfraﬁraﬁr%?
a) g2 &Y 7T § T 3HH FHST T gATTT IRUFIdT Agr oA
b) =T I § Fifeh 3HeY 38 31T UX 31Tel 3TRIROT T Tehfcl 3T
WWWW?WWﬁWqﬁWWWﬁ
J
c) a1 a1 18T &, FIfh 3T 37 12 9§ & &a oA
(d) 3RFd H & IS g1

38)The period for limitation for taking cognizance for an
offence punishable under Section 379, IPC is

(a) six months

(b) one year

(c) three years

(d) no limitation

38)3MTSUIAT AT 8IRT 379 & dgd CaaiT1d TURTET o [oIT HaATeT ool ahl
qﬂzﬁmmﬁ%?
%ﬂ%ﬁ
(b)
(c)?—ﬁc_rrﬂTH
(d) =g HIHAT a1

39)A lady wishing to get a railway ticket, finding a crowd at
the ticket window at the station, asked 'X' who was near the
window, to get a ticket for her and handed him over the
money for the same. 'X' took the money and instead of



getting the ticket run away with the money. What offence has
been committed by 'X'?

(a) No offence

(b) Offence of criminal breach of trust

(c) Offence of criminal misappropriation

(d) Offence of theft

39) Ye1d fehe ofsl ST STHT TWeT dTell Ueh Afgell of T W fehe
s W 1S SEert TSI & 918 Hisle "Tar " & 39 folv feehe
olel o foIT &gt 3IR 38 38 foiv 99 ¢ feu| "uaa o 89 o foiw 3R
feahe olel o ST Y& SIhT 19T IT| "THH' GaRT T ORTE foham
IAT§?

(a) IS TORTE oIgT

(b)mwr%%—ammwm

(c) 3T gfafardlaT st 3rorer

(d) TR T 39T

40)A, in good faith believing property belonging to Z, to be
his own property, take the property out of B's possession.
A is guilty of ?

(a) theft

(b) criminal misappropriation of property

(c) criminal breach of trust

(d) no offence

40)T, 318 I URT &l =T HY T HAleld] E'UHC\H-IIdo-IIHdch 9T Sl
oY o et A T of ATAT B

TG §?

(@)Y

(b)&afe T 3TRTEH gfafazrer




( mw‘rﬁm—umm

41)In cases of dishonest misappropriation the initial
possession of property is ?

(a) in good faith

(b) dishonest

(c) fraudulent

(d) none of the above

A1)SSHE &

o HATHT H YT T YRR Sheoll BT g2
(a)HCHTT qdeh

(b) SSHTA

(c) FUCYOT

(d) SORYFeT 3 T IS A&

42)For the offence of dishonest misappropriation of
property,the property should be ?

(a) Movable

(b) Immovable

(c) Both (a) and (b)

(d) Neither (a) nor (b)

42)T9 T & SSHTA & G@UIeT & 3TORTE & fIT, HURT gleit TIfge?

(a) STITH

(b) FITAX
(c) alat (T) 3R (<)
(d) T ar (T) IR A& (&



43)A person who removes a purse from a dead accident
victim's pocket commits the offence of:

(a) Theft under section 379

(b) Extortion under section 383

(c) Robbery under section 392

(d) Dishonest misappropriation under section 404.

43) U AT Sl ol gHeaT Nisd ST sid @ T fdeprerar 8, a8
YT FIAT g ?

(a) 9RT 379 & dgd IRT

(b) &TRT 383 & A& 3GGIYs]

(c) &IRT 392 & d&d o[

(d) &IRT 404 & gl SSATG! & GlaTerameT

44)Harvinder, who was entrusted by Suresh, with certain
blocks for printing a catalogue, prints the catalogue of rival's
firm with the same blocks. Harvinder is guilty of:

(a) Theft

(b) Cheating

(c) Criminal misappropriation

(d) Criminal breach of trust

44)g (AR, %@W%rﬁwéﬁamaﬁﬁtmé;favww
w9, 38T sty 35 Erer Sieded Y vt & FearT A Rie Far
g | gXfdeT el g

(a) TR

(b) Bt

(c) 3aRTTe gfafaamar

(d) MRS I AT



45)'Z' going on a journey, entrusts his Golden plate to 'A’, till
Z shall return. 'A’ carries the plate to market and sells it.
What crime was committed by 'A’:-

(a) Theft

(b) Extortion

(c) Cheating

(d) Criminal Breach of Trust

45)'Z" IT4T 9T ST 38T &, 379aiT ITesaT el 'A’ &I JI9dT &, 519 de T
Z qT9H AgT 31T ST | "T Tolc il SToTR H of ST g iR dadr gl ' o
ohloT IT 31T fhaT:-

(a)aRT

(b) 3cgrdsT
(b) Sel
(d) TR ~IrAHT

46)Criminal breach of trust is related to ?

(a) movable property only

(b) immovable property only

(c) both movable and immovable properties

(d) None of the above

46)TIarT &1 TR et fhad Jardid 62
(a) Shdol STITH HURT

(b) Shdel TUTGY HYTT

(c) ST9TH 3iR TR Sl=Ar Faam

(d) 3TRFT & F IS oTg1

47)'A’ being executor to the will of a deceased person
dishonestly disobeys the law which directs him to divide the



effects according to the will and appropriates them to his
own use. Which offence 'A' has committed?

(a) Theft

(b) Criminal misappropriation

(c) Criminal breach of trust

(d) Cheating

47) 'T Teh Hd Al hT THIT T fTsdIGeh glel o A SgATel &
mw@rmm%a’rﬁa@aﬁasmwmﬁ
TyeTTToTeT et 3 30 379 STRT & TarT AT Tore et 1 fovder
STl "T o i AT 3IRTE fohaT 82

4 )?ﬂgw@agﬁﬁmw

(b)
(c) TR ~ITHHIT

(d) &t

48)An offence against property may be ?
(a) Wrongful Confinement

(b) Criminal breach of trust only

)
(c) Defamation
(d) Public nuisance

48)HUTY & TA%CH TORTY g1 Hehdl 672




49). Which of the following is/are the essential elements(s) to
be proved for prosecuting a public servant for criminal
breach of trust ?

point:1 Custody

point:2 Entrustment

Select the correct answer by using the codes given below:
(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

49). TR AT & I Uk olish Adeh W Hehc AT Ielled
AT el & & Fef GT a2 ded TR AT ST £2
foig:1 ifarem
:2 QYT
feT 7T hI5 AT IUANT FIh TET IR ol
(a) had 1
(b) FaeT 2
(c) 1 3R 2 =T
(d);ra’m IRAE2

50)'X, an employer deducts a certain percentage from the
salary of his employees telling that it is their contribution to
the provident fund but fails to credit it in the fund, ‘X'
commits:

(a) criminal breach of trust

(b) criminal misappropriation
(c) theft

(d) cheating



50)'X, Teh TATIadT 379eT hAATRAT o dcdel J I§ hghl Ueh [ 13dd
gfaerd s ofdr & & Ig 9oy A & 39e anee §, dfesr s
AT A7 STAT el A fatel WaT &, X' Iiadey &:

(a) 3TURTTH ~ITAHT

(b) 3ToRTTRY gfafaratar

(c) TARY

(d) S

51)A' keeps a loaded pistol with him to kill ‘B’ if 'B’ resists 'A’
in committing theft of the property under his possession. ‘A’
is liable under.

(a) Section 392

(b) Section 379

)
)
(c) Section 383
(d) Section 382

51) Tfe 'a* 379eT et H TUTT T TRT Y F "T* T faReT HIAT &
al T & B AR & T 39+ 918 Ueh R g5 FOedliel T@ar &1 T
3T 3aerl B

(a) 9T 392

(b) &RT 379
(c) &RT 383
(d) &TRT 382

52)'A’ by putting 'B' in fear of grievous hurt, dishonestly
induces ‘B’ to sign on a blank paper and deliver it to 'A'. 'A’
has committed the offence of

(a) Cheating

(b) Extortion

(c) Criminal breach of trust



(d) Forgery

52) 'T" G 39T & ST A 'd" il TIHT oA F 'S I Tk
HTITST W FEATER el 3R 38 'T HI gl b T IRT Far g1 ' oF
R fhar g

(a) Bl

(b) 3cardst

(C)WFCIWW

(d) &<

53)immovable property can be the subject matter of ?
(a) Theft

(b) Extortion

(c) Dacoity

(d) Dishonest misappropriation of property

53) 3Tl Uil fohdenl TN & ohdll 62

(a) @Y

(b) 3cardeT

( c) ST
(d) HYfT T AT & gfafagar

54)Which is not 'stolen property'?

(a) Possession whereof was obtained by cheating.

(b) Possession whereof was obtained by robbery.

(c) Possession whereof was obtained by extortion.

(d) Possession whereof was obtained by criminal breach of trust.

54)ieT T AN Fr 1S Ul 8T 82



a) T WX heall Tl G UTCd TohaT 317 27|
) healT o[ SaRT UTec fohdT T T |
)
)

TS W il 36ET9sT GaRT Ired fohdr 3T 27|
d) T8 TR el RIS +ATHHIT SIRT ITed FohdT 1T AT

55)For the offence of cheating, which one of the following
state(s) of guilty mind/s is/are to be proved?

(a) Fraudulently

(b) Dishonestly

(c) Fraudulently or dishonestly

(d) Fraudulently and dishonestly

55)4IETYST & AT & T, eIy fGATeT &ir fFeafaifEad & & i @
feufa aifed & S g2

(a) FUCYdh

(b) SSHATT &

(c) U AT SSAT &

(d) SYeqde AR SgAE &

56). Which of the following is an offence against body,
property, and reputation and feelings under Indian Penal
Code, 18607 The offence of

(a) kidnapping

56). AT &3 HigdT, 1860 & ded AeITai@d & ¥ il @7 2R,
Tufa 3R gfaser 31 ATa131t & TS 37908 §2 T 3T9RTET
(a) STYGIOT



(b) 3T9gXoT
(c) el
(d) Sl

57)department but showing himself Income-tax officer
putting raid in 'B business centre and gets valuable articles
thus 'A' commits:

(a) Cheating

(b) Cheating by personation

(c) Robbery

(d) Fraud

57) @91 AifeheT e T TR HTAPRT Q@I gU 'S fooieid Hex
3 T AR & 3K HegdTel a&qU YTed hidl & £ IFR T
PIBECCRIGIN

(a) Sel

(b) ITAEITT GaR Tl

(c)eIC
(d) ue

58). 'A' voluntarily throws into a river a ring belonging to 'Z',
with the intention of thereby causing wrongful loss to 'Z'. 'A’
has committed:

(a) theft

(b) mischief

(c) extortion

(d) cheating

58). 'T o TATOT F "SI5" T Ueh 33[ST 1cT H b <, ToTHHT 362"
SIS’ T HEIY glell gl AT 'T & Ffciseer foha g
(a)arT



(b) Rfse
(c) 3cardst
(d) Sel

59). Criminal trespass has been defined in which section of
Indian Penal Code?

(a) Section 441

(b) Section 440

(c) Section 452

(d) Section 457

59). IR &3 FiedT I fvg &RT & 3T 319 & aRkena
fohar T 82
(a) 9T 441
(b) &RT 440
(C) &IRT 452
(d) &IRT 457

60)The offence of criminal trespass is complete when a
person enters upon the property in the possession of
another with intent to commit ?

(a) a bailable offence

(b) any offence

(c) a non bailable offence

(d) a cognizable offence

60) 3RS 3TTaR &1 37T I G 1T ¢ S1d ohig S Terd fehdl
31 o Peol dlell U I ITUTYT Il o SC, H FAA FAT 62
(a) Ueh STHTAAT 3TURTET

(b) IS 3TOTE




¢) Teh IR STHTIAT 319eT
(d) Tk Gag 39T

61)'A’ & 'B’ orally agree to sell an estate. 'A' dishonestly
induces ‘B’ to make advance payment of Rs. 5 lacs and make
final payment at the execution of conveyance. 'B' pays an
advance amount. Later on, at the request of 'B' to execute the
conveyance, ‘A’ denies the agreement as well as the receipt
of any amount. What offence has been committed by 'A'?

(a) Offence under Section 403, Indian Penal Code

(b) Offence under Section 406, Indian Penal Code

(c) Offence under Section 420, Indian Penal Code

(d) Offence under Section 420 & 465, Indian Penal Code

61)'T" 3R ‘" FIf&F T § T U 9T & o0 GgAd | 'T
ISHTT T 'S F TYY T 3AH HETIT il & T IRT Far gl 5
Wsﬂima?ﬁwwaﬁﬂwam CINCIDERURED
AT HIAT & | Te; H, Hage frsaTfed st & faw aﬁ*é:ﬁ?lﬁﬁr
w, tfHﬂ?ﬁﬁ?ﬁﬁ-ﬁﬂﬁ%ﬁraﬁmﬁmﬁscqudlﬁl
T GART T AT fohaT 3T 82

(a) YRT 403, AR &3 Aigdr & degd 39Ty

(b) &RT 406, AR &3 HiZdT o dgd 3TURTeT
(c)
(d)

¢) HRAIT &2 Gigdr sl &RT 420 o dgd Uy
d) IR &8 TigdT hT 9RT 420 31X 465 & dgd 79T

62)'A’ having joint property with Z in a horse, intending
thereby to cause wrongful loss to Z, shoots the horse. Under
what section of IPC 'A' shall be charged with?

(a) Section 426

(b) Section 429



(c) Section 437
(d) Section 438

62) 'T" & UTH 318 & TTY Ueh €13 AT YFd TUM 8, o S5
eIl ST aTa Q“s”irrﬁmrgrrar% aﬁ?ﬁmﬂﬂmglaﬁ‘@r@r
R ¢IRT % e d T OX 3R ST ST

(a) &RT 426

(b) &RT 429
(c) TRT 437
(d) IRT 438

63). 'B' enters into the house of ‘A’, without obtaining 'A's
permission, to congratulate him on his success. What crime
was committed by 'B'?

(a) Criminal trespass

(b) House trespass

(c) Mischief

(d) None of these

63). dI", 'T T AT U fohT =T, " ! IHT Hholdl TR TS
&Y & TIT 3T ©Y & T3 FaT ¥ ST o e @r 37y T ar?

64)'X"' with a view to murdering "Y' enters 'Y's bedroom at
night when 'Y"' is out of station. ‘X' is guilty of:

(a) murder

(b) house trespass



(c) attempt to murder
(d) no effect

64) X', 'Y" T §cT el h 3662 T AT H "Y' o AAThaT H YT
AT § oIS "Y' TCAU H d18< 8IcT 6| 'TFH' ST &

(a) gcar

(b) I&-31faR

(C)® culaﬁruqm

(d)

d) PIS THG el

65)In which of the following the right to private defence of
property does not extend to causing of death?

(a) Robbery

(b) House breaking by night

(c) Mischief by fire

(d) House trespass

65)fAFATI G & & fohdel FUfy T sl T&TT T 3TAHR FHeg AR
el doh AT oTal 672

(a) €

(b)uﬁagaﬁa?r

(c) 31T garT Rfse

(d) 318 TR

66)In which one of the following sections of the Indian Penal
Code, 1860 Lurking House Trespass has been defined?

(a) Section 442

(b) Section 444

(c) Section 445

(d) Section 443



66)HRAT &3 TigdT, 1860 &1 =i & & forg &R 7 Uoea
36 SR 1 aRenTa R e 72

(a) T 442

(b) &R 444

(Cc) YT 445

(d) &RT 443

67)'A' commits house-trespass by making a hole through the
wall of Z's house and putting his hand through the aperture.
For which offence A is liable?

(a) lurking trespass

(b) trespass

(c) house-breaking

(d) none of the above

67) 'T" 3iS & =X FI EAR H B¢ Flah 3R & H 39T 81U STela

68). A finds the key of B's house door, which B had lost, and
commits house trespass by entering B's house, having
opened the door with that key. A has committed the offence
of

(a) lurking house trespass

(b) criminal misappropriation

(c) attempt to theft



(d) housebreaking

68). T &I df & BX & gaTol T ATl [ ST &, ST & @ 318 2, 31k
39 76 T STl Wieleh ol & 8 H YT :leh 8 H Afdshaor
FAT & | & oF IR fhar &

(a) TeBwl 96 AR

(b) 3ToRTTRe: gfafarater

(c) TRY T Yot

(d) TEHET

69)'A’ pulled an earring away from a woman's ear and
thereby tore and wounded her ear. A’ is guilty of:

(a) extortion

(b) mischief

(c) misappropriation

(d) robbery

69) 'T' o Uk ATl &b Tl A SToil Wi of 3R 5T g 39 el &l
wIs far 3R arger X fgar| ' gt &:
(a) 3cardel

~

(b) Rfte
(c) giafargraT

c)
(d) eI

70)Which offence does not require a minimum number of five
person?

Which offence does not require a minimum number of five
person?

(a) Unlawful Assembly

(b) Riot

(c) Robbery



(d) Dacoity

70)fhd Y & TV wATH Il SATFAAT Y ITTLIhT 6l 62
EEIEACITANSIEE]

(b) Serdr

(0) T

(d) 3ohd

1 write synonyms of following words 1.shiver
A.cry

B.cower

C.beat
D.threaten

2 write synonyms of following words 2.abundant
A.small

B.petty

C.enormous

D.abysmal

3 write synonyms of following words 3.smother
A.hug

B.pat

C.strangulate

D.welcome

4 Write antonyms of following words 4.commodious
A.roomy
B.big



C.small
D.powerful

5 Write antonyms of following words 5.call off
A.continue something

B.postpone something

C.barricade something

D.damage something

6 Write antonyms of following words 6.bane
A.curse

B.annoy

C.boon

D.cry

7.the rioters ...... a police station on ....... fire at dusk
yesterday.

A.sets,the

B.was setting,a

C.setted,an

D. Set,zero article

8.they ......... the brigands last night.they commited heist in

A.will have rounded up
B. Were rounding up
C.rounded up

D.had rounded up



9.the people ............ against their ridiculous and despotic
policies since Monday.

A.are protesting

B.were protesting

C.have been protesting

D.will be protesting

10.the summons has been issued by the district court but he
....... Yet due to his laxity and apathy .

A.has not turned up

B.did not turn up

C.was not turned up

D.had not turned up

11 Write meaning of following phrases 11.Rat Race
A.the rats are racing for grain

B.the rats are racing to avoid a cat

C.the rats are pranking

D.fierce competition for regime

12 Write meaning of following phrases 12.an elephant in the
room

A.an elephant eats in the room

B.in intoxication condition

C.in mad condition

D.controversial issues

13 Write meaning of following phrases 13.hand with glove
relations

A.wear gloves in hand

B.remote relations



C .sound relations
D.stagey relations

14 Write meaning of following phrases 14.fish out of troubled
water

A.put a fish out of water

B.water is troubling a fish

C.take benefits from someone 's problem

D.fish are swimming in water

15 Write meaning of following phrases 15.cat’'s paw
A.favourite person of somebody

B.enemy of somebody

C.puppet of somebody

D.bosom friend of somebody

1 faa27, 3167d, 32y, TRLar e g 62
(37) ITEUs

(&) feFaraT

(/) §1o

(<) Targmrdr

2 Fof, HST, BT, fohdeh qgTarh 872
(37) ST
() &X
(4) g&1
(@) g5

3 fasuey, fAferea, ST e gaTTar g2
(37) dX



(&) deFT
CGIGLIED
(G) SHRIER

4 XA, U, #7dTel fohdeh G §?
(37) $ocx

(¥) g

() fasoy

(a)am

5 JIT®G ASS SoTH DITdT sTal 572
(37) QITETHT

() STFeET

(7)) faezrera

() Uehol

6 IR & Si-a1 A oreg §72
(31) TR

() THISER

(&) TR

(c) ATl

7 AFffad & @ l-a1 ¥¢ 2eg g ?

(37) =X

() THISER

(T) grATSh

GYAECRIGR

8 'ITITaY’ FT 7T &2

(37) S aeh S &1 FIg [ATad 3T T &,



() TR $iY TE T THTATA TEIT et dTell
(H) Teh TATA X fehen o Tgat arell
(§) TER-3ER TR FH dTell

9 'gscey’ & HY 8?2
(H)qaﬁu’mr

(@) e gam

(&) Forad veat qoT 5T &
(@) 9 &Y AT

10 "SI & FHT" ATe] RTH T LT AN
(37) qares
() FEATEA
(¥) Frferars
() 3TORTES

11 "SIHAT U gl &1 Taara T 379 &-
(37) e

() TR

(F) FEHTGT

GACEICE

12 HEYA & FHlaT-a1 HiEr &

13 AFATRT H HT-ar G
(37) Srar Efey



15 AT H hid-ar G &
(37) FqoT Y

(&) o1 /Y

(7) gefer &

@) &g |fer
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